The Law of Sines:

The Law of Sines can be used to solve triangles that are not T ‘,'{; nt
of the length of any S idd

The el
=104 is a constant for a given triangle.

AABC isa triangle with a, b, and ¢ representing the measures of the sides opposite the angles with measures A, B, and

C respectively:
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Solve AABC if A=33°, B=105°, and b=37.9.
iLC} 1%0-(337105) = 43°
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Solve AABC ifb=12, A= 25°_and B=35°.

LC = 150 -(25135) = 196~ GO = 20]

srde A
G

Solve AABC if A= 40°, C=70°, and a= 20.

Solve AABC if A=65°, B=50°, and c=12.

Solve AABC if B=100°, C=50°, and ¢= 30.

Solve AABC if a=8.2, B=248°, and C=61.3°




